



BHARATHIAR UNIVERSITY:: COIMBATORE - 641 046

COMMON ELIGIBILITY TEST (CET) - 2017

Date: 09.07.2017

Time: 11.00 a.m. to 12.30 p.m.

	VELLALAR COLLEGE FOR WOMEN, Erode					
SI No	Particular	Rate	Quantity	Amount		
1	Local Coordinator / Principal	2500	1	2500		
2	Chief Superintendent	2000	1	2000		
3	Deputy Superintendent (per 250)	750	4	3000		
4	Invigilator (per 30)	500	32	16000		
5	Clerical Staff (every 100)	300	9	2700		
6	Water Man (every 300)	100	3	300		
7	Attenders (every 300)	100	3	300		
8	General and Seating Arrangment (every 100)	300	9	2700		
9	Packing, Sealing and Bundling (per centre)	500	1	500		
10	Rent for the Centre (per candidate)	6	909	5454		
11	Tea and Snacks (per individual)	25	68	1700		
	TOTAL					

Total

909

Subjects

33

Balance	7154
Advance Paid	30000
Total	37154

Received the cheque for an amount of Rs. 7154/- from the Coordinator, CET 2017, towards conducting the Common Eligibility Test in Vellalar College for Women, Erode



Co-ordinator CET 2017 Principal/Local Coordinator Vellalar College for Women Erode



BHARATHIAR UNIVERSITY:: COIMBATORE - 641 046

COMMON ELIGIBILITY TEST (CET) - 2017

Date: 09.07.2017

Time: 11.00 a.m. to 12.30 p.m.

Date: 05.07.2017

ADVANCE RECEIPT

This is to certify that an advance amount of Rs. 30,000/- (Rupees Thirty Thousand only) is received from Dr. R. Saravana Selvan, Coordinator, CET-2017, Bharathiar University, Coimbatore – 641 046, in connection with conducting Common Eligibility Test (CET) – 2017 for admission to M.Phil. / Ph.D. Programmes of Bharathiar University on 9th July 2017 (Sunday) in Vellalar College for Women, Erode.

10/7/1/7

Co-ordinator CET 2017

Principal/Local Coordinator Vellalar College for Women Erode No: BU/EFL/CET-2017/

From

Dr. R. SARAVANA SELVAN

Co-ordinator (CET – 2017) & Dean – Research Member of the Syndicate Professor and Head Department of English and Foreign Languages

To

THE PRINCIPAL

Vellalar College for Women Thindal Erode – 638 012

Sir / Madam,

Sub: Common Eligibility Test (CET) 2017 - Exam Center - requested - reg.

Common Eligibility Test (CET) 2017, the eligibility requirement for admission into M. Phil. and Ph.D. programmes of Bharathiar University Departments and its Affiliated Colleges, is to be held at Coimbatore, Erode, Tiruppur, Udumalpet and Ooty on 09.07.2017 (Sunday) from 11.00 a.m. to 12.30 p.m. (FN).

In this connection, I request you to act as a Local Coordinator and also extend the facilities of your college to conduct the exam, to accommodate **909** candidates (approximately). You will be ably supported by a Coordinator and Team from our University. From your college, you can nominate One Chief Superintendent, Deputy Superintendents (One for every 250 Candidates), Invigilators (One for every 30 candidates or part thereof) and other ministerial staff. The particulars of which and the remuneration particulars along with the particulars of the students will be communicated to you shortly. Kindly send your acceptance and the contact particulars of the nominated Chief Superintendent to us at the earliest.

Thanking you,

Yours sincerely,

Date: 27.06.2017

(R. SARAVANA SELVAN)

Dr. R. SARAVANA SELVAN
Co-Ordinator

Common Eligibility Test (CET) - 2017

Department of English

Bharathlar University, Colmbatore - 641 046

Page 1



ALL INDIA CIVIL SERVICES COACHING CENTRE

(For IAS., IPS., IFS., etc.,)
UNIT OF ANNA INSTITUTE OF MANAGEMENT
GOVERNMENT OF TAMIL NADU

"Kanchi" 163/1, P.S Kumarasamy Raja Salai, (Greenways Road), R. A. Puram, Chennai - 600 028 Ph: 044 - 24621475 Fax: 044 - 24621909, Email: aicscc.gov@gmail.com, Website: www.civilservicecoaching.com

Dr M. RAVICHANDRAN, Ph.D Principal/Course Director

To

16.10.2019

The Principal,
Vellalar College for Women
Erode
principalvew@gmail.com

Dear Professor,

Sub:

All India Civil Services Coaching Centre – IAS / IPS – UPSC – Civil Services Examination – Successful completion of Entrance Examination 13.10.2019 Reg.

Greetings from All India Civil Services Coaching Centre, Chennai

I write to thank you, Chief Superintendent, Additional Chief Superintendent, the Hall Supervisors and the non teaching staff for helping All India Civil Services Coaching Centre Conduct the Entrance Examination to select 325 UPSC-Civil Services aspirants from out of thousands of applicants.

I take the opportunity to extent you and your career Guidance Cell a warm welcome to our Centre. This is a free facility, fully-funded by the Government of Tamil Nadu, in order to help young aspirants of Tamil Nadu to turn their dreams of becoming an IAS/IPS officer a reality.

Kindly convey my deep thanks to the Secretary/Correspondent of your Management which was kindly lent us the College premises as venue for the Examination.

With sincere thanks

Yours truly,

An Arrebarani Co-ondenalari AICSC-Mg

Principal/Course Director

Vellalar Education Erode.	al Trust,		
Name The frincipal			
Institutional changes For conducting entrance exam an 13.10.19 No of students 427@5	Rs. Ps.		
TOTAL	2135.60		
Rupees. Two thousand hinty to	ono Ve only		
Dark	Dull		

Clark

ALL INDIA CIVIL SERVICES COACHING CENTRE, CHENNAI -28 PRELIMINARY 2020- ENTRANCE EXAMINATION ON: 13.10.2019.

CONSOLIDATED RECEIPT FOR SUMS RECEIVED

Exam Centre

: Vellalar College for Women, Erode

No. of Candidates (434

427

Description		Rs.	P
1) Chief Superintendent (Rs.1500/-for every 500 studen	nts)	Rs.1500	00
2) Invigilators Rs.750/- (1 for every 28 candidates) (16X750)		Rs.12000	00
3) Seating arrangement etc., (Per candidate Rs.2/-)		Rs.868	00
4)Water man (Rs.250 /- for every 500 candidates)		Rs.250	00
5)Sweeper, Scavenger, Cleaning charges	F 1	Rs.250	00
(Rs.250/- for every 500 candidates)		2135	50
6) Hall Rent & Electricity Charges Rs.5/- per candidate		Rs.2170	00
	Total	Rs.17038	00

Rupees Six teen thousand mine hundred and eight nine

Cit La 13/10/19

Signature of the Chief Superintendent with seal

Dr. C. KIRUBA RANI Associate Professor & Head Department Of Biochemistry Vellalar College for Women Erode - 638 012.



ALL INDIA CIVIL SERVICES COACHING CENTRE

(For IAS., IPS., IFS., etc.,)
UNIT OF ANNA INSTITUTE OF MANAGEMENT
GOVERNMENT OF TAMIL NADU

"Kanchi" 163/1, P.S Kumarasamy Raja Salai, (Greenways Road), R. A. Puram, Chennai - 600 028 Ph: 044 - 24621475 Fax: 044 - 24621909, Email: aicscc.gov@gmail.com, Website: www.civilservicecoaching.com

Dr M. RAVICHANDRAN, Ph.D Principal/Course Director

17.09.2019

The Principal, Vellalar College for Women Erode principalvew@gmail.com

Dear Madam / Sir,

Sub:

All India Civil Services Coaching Centre – IAS / IPS – UPSC – Civil Services Examination – Entrance Examination – 13.10.2019 – Government Arts College as an Examination Centre – regarding.

Greetings.

The All India Civil Services Coaching Centre is a Tamil Nadu State Government run facility which offers free residential coaching Programme to Graduates / Post Graduates of Tamil Nadu for a duration of six months.

It admits 225 Candidates based on an Entrance Examination. About 434 Candidates are likely to take the Entrance Examination, to be held on 13.10.2019 at Erode from 10.30 am to 12.30 pm.

I now write requesting you kindly to enable the conduct of the Entrance Examination with your College as the Erode Ĉentre with utmost confidentiality and help the Tamil Nadu State Government in the noble mission of producing IAS / IPS officers.

We shall support your College as a Centre of Entrance Examination with admissible rates of remuneration as shown in the attachment. I request you kindly to confirm your consent in this regard by email to aicscc.gov@gmail.com

You may also call me at my personal mobile no. 9444381337.

I thank you in anticipation.

Encl: Admissible rates of remuneration

Yours truly

17 09 17 19



Vellalar Educational Trust, Erode.

MISCELLANEOUS RECEIPT

No: 3604 Date: 13.05: 2020				
Name: The Principal				
VCW		******		
	Rs.	Ps.		
Institutional Charges	15675	00		
for Conducting		/		
Police Examination	/			
held on 12.1.2020				
to 13.1.2020				
	/			
Total	15675	06		
Rupees Fifteen Thonsand Six				
Hundred & Seventy Five only				
Jorgania John	C			
10 11-	Cler	K		

06.05.2020

Receipt

Received a sum of Rs. 31350/- (Rupees Thirty One Thousand Three hundred and fifty only) towards Accommodation Charges for Conducting Written Test for recruitment of **Sub-Inspector** on **12.01.2020 and 13.01.2020** (Rs.10.00 /student, 3135x10 = Rs.31350.00)

Porregrador (Snoro)

6

PRINCIPAL PRINCIPAL

To There office

As portReceipt no . 3604 3156A5

Resnumeration pand to

Staffs an perhistended

Vergen

POLICE DEPARTMENT

From

73

To

S.Sakthi Ganesan, I.P.S., Superintendent of Police, Erode District, Erode. The Correspondent/ Principal, Vellalar College for women, Thindal, Erode -12.

C.No.A1/039598/2019, Dated: 06 .01.2020

Sir,

Sub: Police – TNUSRB – Recruitment for the posts of 969 Sub Inspector of Police (Taluk, AR and TSP) for the year 2019 – Conducting of Written Examinations for departmental candidates postponed on 13.01.2020 (Monday) – Accommodation – Requested.

Ref: Letter in C.No. R2/860/2019, dt: 09.12.2019 of the Inspector General of Police / Member Secretary, Tamil Nadu Uniformed Services Recruitment Board, Chennai – 8.

- 2. This Office Letter in even no. dated:11.12.2019
- 3. Your Office Letter No.VCW/SI Exam/1310/2019, Dated:11.12.2019.

Kindly refer to the references cited.

2) With regard to the references cited, the written examination for departmental candidates on 11.01.2020 is postponed and the same will be conducted on 13.01.2020 (Monday). Hence I request you to provide accommodation on 13.01.2020 instead of 11.01.2020 and spare sufficient number of Halls on 12.01.2020 and 13.01.2020 in your College.

2/2

3) I hope you will render your fullest co-operation as in the past.

With kind regards,

Yours faithfully,

For Superintendent of Police, Erode District, Erode.